A L T 5= F=
A #l B B FR 25 9 A 17 B 9:30~ IEIEE Hh iah B2 {5 22
I = % BBy QRN SHESRELIS
T E 1B Ff |AFREEEKET F BB MR
e 24 B B |BEEERISEOFAZHICERIIEEABREAILSNEORBEEICEITIELETo .
R EE@BAH) 10,920,000 FEMEERE) 10,725,000 RIEHIBEEERE) 8,713,000
A L O#EH (FM) % f %8
= xl:.l
B % £ & & (0EIRE) = 1 & % 2 O = 3 5 e
74T 1B FE) 10,650
(B L 2% 10,730
GLEES:=H 10,800
(B FH 11,000
43R A< #H 10,700
BT MEE 10,850
(B)Fi2ER 11,000
RREM iR
AR FH MRS 10,880
(GESNEEH 10,700
2R E) 10,400 SEHL 10,400
ST = 10,900
240 D EF e XIEE iR BRS 2 % A B | FR5&E9IA24H
e * it BB K L §E62-77-6 I #HGEF) FRE 25 F 9 B 30 H
ST 1860.0m T HAGERR) FRL 25 % 12 A 4 H
EHRUIEME LT 1890.0m o=
XERTLT 690.0m

{#%  AFLEBGEALER) ICHZEBDS5 %L T 2 EMEMBEL-EEMER L O ALMBCEILEH) THD.




